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1. IRADER B[
#E FEE REEE =R BE=E
L8N A(a+b+c) 70,000 70,000 0 H30.3.173 7

3 (O 60,000 60,000 0
EWEED) 10,000 10,000 0
B=-BERESNEC) 0 0 0
HHAEE(A) 70,000 70,000 0
RN =48 3,735,225 3,735,225 0
IRAEF(B) 3,805,225| 3,805,225 0

2. XTHDOE B4 [m

®EB FEE REEE =8 i

EHE 110,000 105,392 4,608
HE 50,000 48,460 1,540
HESH 60,000 56,932 3,068
EE T 450,000 355,186 94814
HEE AR 180,000 176,163 3,837
EAEES 130,000 100,379 29,621
AXNT7 A%UYy7 HREE 140,000 78,644 61,356
REZ 30,000 0 30,000
Rl Et 0 20,000  -20,000
S HER 560,000 480,578 79,422
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1. IRADER
SEIRA 70,000 0 70,000
SHRAEE 70,000 0 70,000
HEE TS ET 3,805,225 0| 3,805,225
IRA&E () 3,805,225 0] 3,805,225
2. XHDOEB
G 105,392 of 105,392
EE T 355,186 0| 355,186
S EEH) 480,578 0/ 480578
SHRHES -410,578 o] -410578
R RN Z Fh(d—e) 3,324,647 0 3,324,647
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